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B1IE HESHKS

T Ja 3 AT

1-1 ETIRFEHHRE REBEFER.

(1)(4517.239), (2)(10110.0101), (3)(325.744), (4)(785.4AF)

BO(1D)@4517.239) =4x10 +5x10 +1x10' +7x 10 +2x 10" +3 x 1072 + 9 x 107

(2)(10110.0101), = 1 x2* +0x 2 +1x22 +1x2 +0x 2 +0x2"' +1x27?
+0x22% +1x2"

(3)(325.744)s =3 x & +2x8 +5x 8 +7x8" +4x87% +4x8>

(4)(785.4AF);s = Tx 16 +8x16' + 5x16° + 4 x 16" + Ax 1672 + Fx 167

1-2 ZFRTIZHRREREE.

(1)10111 +101.101  (2)1100 - 111.011  (3)10.01 x 1001  (4)1001.0001 = 11.101

#®% (1) 10111 (2)  1100.000
+ 101.101 — 111.011
11100.101 100.101
10.01 10 0
(3) x fo1 (4) 11101 /1001000 1
10 01 11101
.188(1)0 1100.1
01101 1001.0001 + 11.101=10(%) ,1100.1(& )

1 -3 CRBTII BB s B R i g
(1)1110101  (2)0.110101  (3)10111.01 \
B0, = 1x2 +1x2 +1x2 +0x2 +1x2 +0x2 +1x2 = (117),
(1110101), = (165)g,(1110101), = (75),
(2) (0.110101), = 1 x27" +1x2% 4+0x22 +1x2™ +0x2° +1x2° = (0.828125),,
- (0.110101), = (0.65)5,(0.110101), = (0.D4),
(3) (10111.01), = 1x2 +0x2 +Ix2Z +1x2 +1x2 +0x2" +0x2" +1x272
= (23.25)5
(10111.01), = (27.2)5,(10111.01), = (17.4),
1 -4 HFF 3SR = s /\:E%J’ﬁ%ﬂ%u&%%& RN riF 54
(1)29 (2)0.207 (3)33.333
B (1)(29), = (11101), = (35); = (1D)
(2)(0.207);y = (0.00110), = (0.14); = (0.30)
(3)(33.333),, = (100001.01010), = (41.24); = (21.50)
1-5 Wl — D HEIERE B = bebsbibyby b, by BERH(4), %lﬁf?
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BTBEDTRRES

ﬁ lﬁy‘](4)10 = (IOO)Z,EI]%%[ = OO,FJT‘[’JRE b1b0 = OOEBEIo
1 -6 B TFFIEEEER . KADRAMG .
(1)0.1011 (2)0.0000 (3) - 10110

(101011 = [0.1011]g = [0.1011]5 = [041011]y

(2)0.0000 = [0.0000] = [0.0000]5 = [0.0000]y
(3) - 10110 = [110110]5 = [101001]x = [101010],
1-7 BH[NIy = 1.0110,3K [Nz, [Nz I N,
2 N =-0.1010,[ N]z = 1.1010,[N]z = 1.0101
1-8 ARG ZEMIMEERINTIEHR .
(1)0000101 - 0011010 (2)0.010110 - 0.100110
#% (1)N, =+ 0000101, N, = + 0011010

JBRS: [N, 1z = 00000101,[ N, ]z = 00011010

“HHIN, I > [N, g, T

00011010
— 00000101
00010101  FFESNEUR
[N g - [N, ]z = 10010101, N, - N, = — 0010101
B[N, Jg = 00000101,[ - N,]g = 11100101
N - N]g = [N ]g + [- Ny]g = 00000101 + 11100101 = 11101010
N, - N, = - 0010101 )
MBIN, - Nyl = [Ny + [= NyJy = 00000101 + 11100110 = 11101011
N, - N, = - 0010101
(2)N, =+ 0.010110, N, = + 0.100110
B[ Ny]g - [N, ]z = 0.100110 - 0.010110 = 0.010000
S = 1,N, - N, = - 0.010000
R[N, - N,lg = [N1g + [- N,]g = 0.010110 + 1.011001 = 1.101111
N, - N, = — 0.010000 .
SN, - Ny = [N ] % + [= N1y = 0.010110 + 1.011010 = 1.110000
N, - N, = - 0.010000 :
1-9  ZBIFE“XT 9 gL 0“3 10 AN SER T F -+ 3 s s i0E 2 .
(1)2550 — 123 (2)537 - 846
B (1)[2550 - 12310y = [25507gy + [ - 123]gy = 02550 + 99876
' 02550
+ 99876
[1] 02426
+ 1
02427
Bf:2550 — 123 = 2427



F1E HHSES

[2550 - 123]i4 = [25500i04 + [— 123]i = 02550 + 99877 = 02427
T8 : 2550 - 123 = 2427
(2)[537 - 846]gy = [537)om + [ — 846]oy = 0537 + 9153 = 9690
537 - 846 = - 309 A
(537 - 846,05 = [537 )i + [ — 8461 = 0537 + 9154 = 9691
537 — 846 = - 309
1-10 KT 8421BCD FB#E AL 1k il Hhofn — gk 4k .
(1)011010000011  (2)01000101.1001
##  (1)(011010000011)gppep = (683), = (1001000111),
(2)(01000101.1001 )goecr = (45.9), = (101101.1110),
1-11 X7 8421BCD & .4 3 B BB HIR A THIEEL:
(1)(578),,  (2)(1100110),
2 (1)(578), = (010101111000)gmpey = (100010101011) 45 = (011101001100 5
(2)(1100110), = (102),, = (000100000010)sspep
= (010000110101 ) 45 = (000100000011) ss58:

Bkl

1. B F PR R HIEE BRI

(1)(11010),  (2)(1011.01),,  (3)(73501.06)s  (4)(5FOD);
2 T B 3R B T A

(1)(101001), (2)(11.0101), (3)(111000), (4)(10.1101),
3 T 5 3kt s 4 a8k /s L BCD RS
(1)(26/32)y  (2)(254.25),  (3)(27/16),,  (4)(25.625)y

4 BT FUHE 5 S0 B BCD BFIR 319

(1)(459);,  (2)(57.09)y

5.8 F % BCD A4k 3 WBE R 4K

(1)(010000000111)5y  (2)(1100001101110) sz
6. BHI[X]y = 10111,3R X, [ X]m, [ X]g [ - Xlio

7 ¥ F B 75 00+ 0 B A DL A BRI BOTE RS OB ARG
(D(+124);y  (2)(=30),, (3)(=27/32); () (+ 127y

8.BH N, = 1001,N, = - 0011,5R[ N, + Ny Jg T[N, - Ny o

9. 841 N, = 1001,N, = - 0011,3R[ N, + N, 1y FI[N, — N, 1yo

BHilZEER

1.2 (D1010), = 1x2 +1x2 +0x22 +1x2 +0x2°
(2)(1011.01),y = 1 x 10° + O x 10* + 1 x 10" + 1 x 10° + 0 x 107" + 1 x 107



v me wl T

HFBIEIMIERRELR

(3)(73501.06)s = Tx 8 +3x8 +5x8 +0x8 +1x8 +0x8"' +6x8
(4) (5FOD)j3< 5 x 16° + 15 x 16> + 0 x 16' + 13 x 16°

282 ()41 (2)3.3125 (3)56  (4)2.8125 ,
3.8 (1)(26/32),,= (0.1101), = (0.D)ys = (0.1000000100100101) gy,
(2)(254.25),, = (11111110.01), = (OFE.4),, = (001001010100.00100101) 5
(3)(27/16);, = (1.1011), = (1.B),s = (0001.0110100001110101)gep
(4)(25.625),, = (11001.101), = (19.A),, = (00100101.011000100101) zcp,
4.%% (1)(459), = (010001011001)5y = (011110001100) a5

(2)(57.09),, = (01010111.00001001) = (10001010.00111100) 455

5.8  (1)(010000000111)pp = (011100111010) 45 = (407)y,
(2)(1100001101110) 455 = (100100000011 e, = (903),6

6.8 X =-1001,[X]g = 11001,[ X]z = 10110,[ - XJ5 = 01001

TR (D)(+ 124) = (+ 111100) gy = (01111100)5 = (O1111100) g = (01111100) 45

(2)(=30) = (= 11110) gy = (111110) g = (100001)gg = (100010) 35
(3)(=27/32)1p = (= 0.11011) g = (1.11011) g = (1.00100) g5 = (1.00101) 355
(4)(+127); = (+ 111111 g = (0111111 1) g = (O1111111) gy = (O1111111) 3y
8.8%2 [N, + N,]Jz = 00110

[N, - N, ]z = 01100
9.% [N, + N, ]y = 00110

[N, - N, )5 = 01100



HhE

2-1
(1)F = BD + ABC

(3)F = (A+AC)D + (A + B)CD

\

\

#® (1) aBcplF (2 ABCD
00011 0001
00111 0011
100 1|1 0101
10111 0111
1100]1 1001
11011 1011

1101
1111

2 -2 FZBEAHKAHE . EEMANIERTIRER.
(2)AB + AB + AB + AB =

(1) (AB + AC) = AB + AC

[
p

2RIV

SRR

SRR AER (A, B, €, D) EMAMBEHAAR, FIIRMEN 1,
(2)F = (A+B+AB)(A+B)AB + D

b
S
@)
o]

b e e OO OO OO QO
btk bt OO O == O OO

— OO = OO = OO ~O O

O= OO O, O~ OO ~D

(3)AABC = ABC + ABC + ABC (4)ABC + ABC = (AB'+ BC + AC)

(5) [(ABC + AB) + BC] = AB

% (1) %3 =,E-j5=(2+§)(A+Z”)=ZE.~+AE:+,§
(2) %M = (AB+AB) + (AB+AB) = A+ A=1=%
(3)Z#N=4-(A+B+C)=AB+AC = AB(C+ C)+AC(B + B)

C =

5]
+
|

= ABC +ABC +ABC + ABC = ABC + ABC + ABC = &1

(4) 1= AB -

2-3 HEERKETIIREIR:
(1)AB+AB = (A+B){A+B) (2)(AB + AC) = AB

BC-AC = (A+B)(B+ C)(A+C)
= (AB+AC + BC)(A+ C) = ABC + ABC = &1
(5) % = (ABC + AB) - BC = (ABC + AB)(B+C) = AB+ ABC =

+AC
B (1) HEMEE2-17HAB + AB = (A + B)(A + B)o
(2) HEEFR2 -2 TH(AB + AC) = AB + AC,

ol



HFBEITERELE

s S

£2-1 £2-2

"4 BlEMm|EM A B C|&¥|fHa
o ol 1 1 1 0 0 0] 1 | 1
o 0o 1| 0| o

0 14 0+~ 0 01 0| 1 | 1
1 0| o 0 0 1 1| 0 0
T T 1 0 o 1| 1
1 0 1| 1 1

1 1 0| 0| o

1 1 11 0| o

2 -4 KTF)REA R R BRI R E

()F = AC+BC (2)F =AB+ BC+A(C+D) (3)F = A[B + (€D + EF)G)

" (DF=(A+C)(B+C),F=(A+C)B+0C) :

(2)F =(A+B)YB+C)-(A+CD),FF =(A+B)-(B+C)(A+CD)

"(3)F=A+B[(C+D)-(E+F)+G),FF =A+B(C+D)E+F)+ G]

2-5 [EZETHEM:

(BEHMX+Y =X+ ZIBAY = ZIEHG,ATA?

(2) BH XY = XZ, 4 Y = Z IEHG, 47

BBEHMX+Y=X+Z,BXY=XZ,AY = Z,EHG, 47

BHEHX+Y=X-Y,HAX = Y IEHG, BA2

B (1) RIEFBIM:1+40=1+1,/80x= 1,

(2) RIEHHIa0:0-0 =0-1,/80 % 1,

(3) EHfio

(4) iEHo

2 -6 FAREULREIBALE T3 REk:

(1)F = AB + B + BCD

(2)F = A+AB + AB + AB

(3)F = AB + AD + BD + ACD |

8 (1)F=AB+(B+BCD)=AB+B=A4A4+B

(2)F =(A+AB) + (AB+AB) =A+A-(B+B) =A+4=1

(3)F = (AB+ BD + ACD) + AD = AB + BD + AD = AB + BD + AD + AD
=A(B+D+D)+BD =A+BD '

2-7 WTFIREERR S/ARZM” BERE R R

(1)F(A,B,C) = (4B + AC)

(2)F(A,B,C,D) = AB + ABCD + BC + BCD

(3)F(A,B,C,D) = (A + BC)(B + CD)

# (1)F(A,B,C) = ABC + ABC + ABC + ABC + ABC = >,m(0,4,5,6,7)

n

F(A,B,C) =(A+B+C)(A+B+C)(A+B+C) =[] M1,2,3)
(2)F(A,B,C,D) = ABCD + ABCD + ABCD + ABCD + ABCD + ABCD + ABCD + ABCD
= > ' m(4,5,6,7,12,13,14,15) '



£28 BERYEY 7

F(A,B,C,D) = (A+B+C+D)XA+B+C+D)A+B+C+D)A+B+C+D)-
(A+B+C+D)A+B+C+D)(A+B+C+D)(A+B+C+D)

= J] m(0,1,2,3,8,9,10,11)

(3)F(A,B,C,D) £ ABCD + ABCD + ABCD + ABCD + ABCD = Em(0,4,5,6,7)

F(A,B,C,D) =(A+B+C+DYA+B+C+D)A+B+C+D)-
(A+B+C+D)A+B+C+D) A+B+C+D)A+B+C+D)-
(A+B+C+D)A+B+C+D)A+B+C+D)A+B+C+ D)

= [[ m(1,2,3,8,9,10,11,12,13,14,15)

2-8 MAREEEAFHTIHER, HEUEFH S8 BEAMRE RS ik,

(1)F(A,B,C) = (A + B)(4B + C) P
(2)F(A,B,C) = AB+ ACD + AC + BC CN_ 00011110
(3)F(A,B,C,D) = BC+D + D(B + C)(AD + B) of oo | oo

® (DWE2-1FR. IaDIaE

“S" . F(4,B,C) = AC + BC

“®%5”X:F(A4,B,C,D) = AB + C
F(A,B,C,D) =AB+ C=(A+B)-C

(2) A 2 - 2 PR,

“58” R:F(A,B,C,D) = AB + BC + AC

“sk5” ®.F(A,B,C,D) = ABC + ABC
F(A,B,C,D) = ABC+ ABC = (A+B+ C)(A+ B +C)

(3) TE 2 - 3 BirRo

“5%%” #:F(A,B,C,D) = B+ D

“#5” X :F(A,B,C,D) = B- D
F(A,B,C,D) =B-D =

B+ D

AB AB
ch 00 o1 11 10 (o)) 00 01 11 10

00/1\(1_4110 ol o |1 ] 1) o
nimmE O
T oD
lunon ¥nnng

E2-2 E2-3

2.9 MEiEEHES F(A,B,C,D) # G(A,B,C,D) Bil%%,
F(A,B,C,D) = BD + AD + CD + ACD
G(A,B,C,D) = BD + CD + ACD + ABD

2 mE2-4FE2-5TM:F(A,B,C,D) = G(A,B,C,D),

2-10 H%l&izul@lz 6 Fr, B T HE B AR,

() #E b = a, o BYTMER, EBBIBAEH S Ko




HF BB ITHERELR

T !
- L]

Er—

(200 M5 ARV EIBBREH S R

B (a-=1

(2)a =1,b = 1,

2 - 11 RIRE#EE AR S TR B NIy i 5 2 4 ) B4

AB AB
CD 00 01 11 10 CcD 00 01 11
00 ! 1 H 1 00 0 0 0
01 0 0 0 0 01 1 1 1
11 0 0 0 0 11 1 1 1
10 1 I 1 1 10 0 0 0
E2-4 B’2-5

()F(4,B,C,D) = >'m(0,2,7,13,15) + >)d(1,3,4,5,6,8,10)

F,(A,B,C,D) 2m(0,2,4,7,8-,10,13,15)

[l

(2){ F,(4,B,C,D) = >,m(0,1,2,5,6,7,8,10)
F;(4,B,C,D) = >,m(2,3,4,7)
®m (1) dE2-7FEETH F(A,B,C,D) = A+ BD
AB AB
cP\_00_ 01 1110 CON_00_ .01 11
| .
00 i 0 b 1 00 1 d 0
01 H 0 i ] 1]} d d q
11 0 0 0 0 11 d 1 IJ
10] 1 i ] a 10 1: d 0
B2-6 2-7

(2) B 2 - 8 FEETTH
F,(A,B,C,D) =
F,(A,B,C,D) = ABCD + ACD + ACD
Fi(A,B,C,D) = ABCD + ABCD + ABC

+ ABCD + ABCD + ABD
+ A



o BEANED

AB AB AB .
CDN\__00 01 1110 &y 00 01 1110 CDN\__ 00 01 1110
o0l 1 [T U ool vl oo e o {2 o o

o | of( Dl o] o o1

1] 0 0

0
ﬁ 0
ul o '\’i‘)’ U ‘<; 1| o '/;_' 0 4]0 1 m ':.D o]0
o a4 ] { U
)

(b) (c)

H2-38
(a)F1(A4,B,C,D);(b)F,(4,B,C,D);(c)F3(A,B,C, D)

B 25 illl - RR

1 EE TR

(1)(AB) @ (4B) = AB + 4B (2)(A@ B)O(4B) = AB
(3)ABC + ABC + AB = ABC

2R FIB I AU RTE RS

(1)F =A-B+ D+ (AC + BD)E (2)F = (A + B)(B+ AC) + D

(3)F = AB + ABC(B + CD) (4)F = ABC(A+B-C)A+ C
3. 3R T 5B R 5 B4 '
()F = [(AB+ C)D + EJB (2)F = AB + (A + C)(C + DE)

(3)F = (AB+ C)AB+ CD+ ACD (4)F =A@B@®!
4.3 T3 R BB/ N 2 M B E R Z FIE R
(1)F(A,B,C,D) = BCD + D(A + B) + BCD
(2)F(A,B,C,D) = AB + AC + BC + ABD

5. FAREE LRI T3 B,

(1)F(A,B,C) = AB + ABC + BC

(2)F(A,B,C,D,E) = A(B + C)+AC+BC+BC+BD+BD+ADE
(3)F(A,B,C,D) —A+B+C(A+B+C)(A+B+C)
(4)F(A,B,C,D) = AB + AC + BC + CD

6. AR HEELBTIES 55" Ko

(1)F(A,B,C,D) = ABC + AB + AD + C + BD

() F(4,B,C,D) = > m(0,2,5,7,8,10,13,15)
(3)F(A,B,C,D) = (A+ C)(A+B)(A+ C)(B+D)B+C)
(4)F(A,B,C) = ABC + AB + BC

7.4 TIZERECHER TS Ko

(DF(A,B,C,D) = (A+B)(A+C+D)A+ C)(B + C)



10 HFBBITEBEE

- ——

(2)E(A,B,C,D,E,F,G) =(B+D)B+D+A+GCC+E)NC+G)A+E+G)
(3)F(A,B,C) = ABC + BC + ABC

8. LA T3 AR R

(1)F(A,B,C,D) £ > ,m(4,5,6,13,14,15) + >, d(8,9,10,12)

(2)F(4,B,C,D) = >,m(3,6,8,9,11,12) + >, d(0,1,2,13,14,15)
Fi,(4,B,C,D) = >,m(1,3,6,7,8,9,11,12,13,15)

(3)y F,(4,B,C,D) = >, m(0,2,6,7,12,13)
F,(A,B,C,D) = >)m(0,1,2,3,8,9,11,13,15)

B 25 Il 2R & 58

1.58 %,

288 (I)F =(A+B-D)[(A+C)B+D)+E]
(2)F =[AB+B-(A+C)]-D

B)VF =(A+B)(A+B+C)+B-(C+D)

(WDF =A+B+C+A4-(B+C)+4+C

3.8 (DF =[(4 + B) 'E+5]f+§
QDF=(A+B)-[A-C+C-(D+E)]
3)F=[(A+B)-C+A+B-(C+D)]-A+C+D
(4) F = A®BGO

4.%%2 (1)F(A,B,C.D) = > m(0,1,2,3,4,5,6,7,8,9,10,11,12,13, 14,15)
F(A,B,C,D) =1 ‘

(2)F(4,B,C,D) = >,m(0,1,2,3,5,6,7,8,9,10,11)
(3)F(A,B,C,D) = [] M(4,12,13,14,15)

5.8 (1)F(A,B,C) = AB + AC

(2)F(A,B,C,D,E) = A+ BC+BD+CD
(3)F(4,B,C,D) = A + BC

(4)F(A,B,C,D) = AB + C

6.7 (1) mEA2 -9 KEETHM:.F(A,B,C,D) =B+ C+D
(2) tnE 2 - 10, F(4,B,C,D) = BD + BD

(3) 1@ 2 - 11,F(A,B,C,D) = ABC + ABC

(4) tiE 2 - 12,F(A,B,C) = AB + C

7.%%8 (1)F(A,B,C,D) = (A + B)(B+ C)(A + C)
(2)F(A,B,C,D,E,F,G) = (B + D)(C + E)(C + G)
(3)F(A,B,C) = (A+ C)(B+ C)A+ B)
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